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Sudoku

The goal when filling out a sudoku is to enter a number from 1 to 9 in each box of the puzzle.

Each row, column, and outlined 3 x 3 region must contain each number only once.

Example I
Sudoku Puzzle - Easy
914 |11]8 2
61814 |5]|2 3
5 6|9 418
6 5 718 4
8157 214191131
2 4 318]5]|6
4 617|19|1]2
1 912 5 716
2 41119
www.sudoku-puzzies.net

Mathematical exploration begins with questions. So I'm scatter-
ing a few puzzles throughout this book. No pressure—you can
skip them if you wish, or think about just the ones that seem
enticing. Hints and solutions can be found in the back, but be-
fore you look there, I recommend playing around with each
problem.

DIVIDING BROWNIES

A father bakes brownies in a rectangular pan as an after-
school snack for his two daughters. Before his daughters get
home, his wife comes along and removes a rectangle from
somewhere in the middle, with the sides of the rectangle not
necessarily parallel to the sides of the pan.

How can he make one straight cut and divide the remainder
of the brownies evenly between his two daughters so that they
get the same area?

A version of this puzzle was featured on the NPR show Car
Talk.*
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Sudoku

The goal when filling out a sudoku is to enter a number from 1 to 9 in each box of the puzzle.

Each row, column, and outlined 3 x 3 region must contain each number only once.

Example I S
o418 |%1G[5 ]2
e84l 2]1[9]3
SIVARE IREAE BARAE:
6{a |25 ]|7]18|2]|4
8|57 |2]4]9|3]1
211141938561
a|nlel7lo|1]2(2]%
1392“5376
S50 25916419

HINTS

Dividing Brownies. Try special cases. If the removed rectangle is
very tiny, how should you orient the cut?

SOLUTIONS
Dividing Brownies. If you cut along a straight line that runs through
the center of the large rectangular pan and the center of the rectangu-
lar hole, the cake pieces on both sides will have the same area, since
each will be half the size of the pan minus half the size of the hole.
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DAY FOUR

Create a bar graphing using the data from Snake
Name on front or back (these might be hung in the
halway)

Graph title

Label X and Y axis

Plot data from all classes (30)

USE ART, BE CREATIVE

Paper or online option
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